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Solve

Solve
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Solve :
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:(SDQ—D+14)y=8e2x+cos4x.

: (DQ -4D+ 13jy = e2X sin3x.

2
d—g+—y+y—xex
dx
y +y=sin’x.

(D2 + 4)y = 4e”* sin3x.

(D*-3D+2)y=e"+x’.
(D2 —2D+1)y =e"sin3x.
(D*+4D+3)y =2e ™ (x* +2).

dx oo Y o
E+2y_sm2t,a 2x=cos2t.

(x2D2 —7xD+12)y=x.

2
2dy . dy_ . _ -
x @+xa+y_logxsm(logx).
2
x2M+5x@+4y=x2.
dx®> ~ dx
2
x2d—g+4x@+2y:xlogx.
dx dx
: (X2D2 +xD + 1)y =sin(2log x)sin(log x).

2
4y +4@+4y =e?* +e’*sinx.
dx

dac2
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29.

30.

31.

32.

Solve:%—yzt,ﬂ+x=t2.
dy dt

Solve : —2—4@—4y=egx+cos2x.
dx dx

Solve: —=+ Yy =SE€CX.

Solve: —=+a

g + 4y =tan2x by the method of variation of parameters.
dx

Solve the equation

d2

dac2 Y=1ie

Solve : using the method of variation of parameters.

X

Find the particular integral of y" + 7y' — 8y =e** by the method of variation of parameters.

a2

Solve + Y = X COS X by the method of variation of parameters.

dxc2
Solve : y” +9y =cot3x.

Solve (DQ _4D+ 13) y=e?Xsin3x.
Solve: Yy +2y +Y = XCOS X.

Solve : y” +9y =cot3x.

Solve : (XQDQ -3xD+ SJy = x2 sin(logx).

2
Solve : (x2D2 - xD + l)y = (Ingj .

X

Solve : X’y —2xy —4y =x".

2
-x2g—3xﬂ—5y

Solve : =sin(log x).
4 (1og )

2 d2y dy

Solve : X ?+xa+y = 4sin(log x).
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Solve : (x2D2 —2xD — 4)y =32(log x)2.

Solve : (D2 -~ l)y =x>+e*sin2x.

Solve the system of equation % +5x-2y= t,% +2x+y=0.
Lax ot dy
Solve the system of equation i t+ty=e",x a t.
dy _t dy 2t
Solve: ———=>-—y=e;x+—2-y=e
atar Y at 7
Solve : — +2x — 3y = t,@—3x+2y =e”
dt
Solve the system of equation % + 2y =-sin t,% —2x=cost.
. __dx dy B de dy
Solve the simultaneous equation dr  dr + 2y =cos 2t,a + ar

Solve the simultaneous equation Dx + y = sin2t;—x + Dy = cos 2t.

dy

dx
Solve the simultaneous equation I +2x -3y = 5t,a —-3x+2y =2e”".

dy

dx .
Solve E_'_y =SII1t,E+x=COSt giventhat X =2,y =0 when t=0.

Solve dx +2y = Set,@— 2x = 5e’.
dt dt

bt

2x=sin2t.



